

Released:

May 09, 2024

CENTRAL MARKETING AREA

FEDERAL MILK ORDER NO. 32

United States Department of Agriculture

Agricultural Marketing Service Dairy Program

Tel.: (913) 495-9300 --- Fax: (913) 888-9207

email: market.administrator@fmmacentral.com website: www.fmmacentral.com

Mailing Address:

PO Box 14650 Shawnee Mission, KS 66285-4650

APRIL 2024

STATISTICAL UNIFORM PRICE ANNOUNCEMENT

| Producer Milk | Percent | Pounds | Minimum Class Price |
|---------------------|---------|---------------|---------------------|
| Class I | 29.02 | 361,754,256 | \$21.18 |
| Class II | 6.82 | 84,951,998 | 21.23 |
| Class III | 55.62 | 693,258,262 | 15.50 |
| Class IV | 8.54 | 106,430,125 | 20.11 |
| Total Producer Milk | 100.00 | 1,246,394,641 | |

| Computation of Uniform Price (per cwt @ Jackson County, MO) | | Component Prices | | |
|---|---------|---|----------------------|----|
| Producer Price Differential | \$2.20 | Butterfat Price | \$3.3309 / | lb |
| Class III Price (@ 3.5% Butterfat) | | Protein Price | 0.8345 /I | lb |
| Statistical Uniform Price (@ 3.5% Butterfat) | | Other Solids Price | 0.2367 /I | lb |
| Statistical Uniform Price (@ Average Pool Component Tests) | \$20.43 | Nonfat Solids Price SCC Adj Rate (1,000 cells) | 0.9730 /I 0.00077 | lb |

COMPUTATION OF PRODUCER PRICE DIFFERENTIAL

| | | Product Pounds | Price per cwt / lb | Component Value | Total Value |
|--------------|---|-----------------|--------------------|------------------|------------------|
| Class I | Skim Milk | 353,439,969 | \$10.15 | \$35,874,156.85 | |
| | Butterfat | 8,314,287 | 3.2542 | 27,056,352.76 | |
| Less: | Location Adjustment to Handlers | | | 511,850.12 | \$63,442,359.73 |
| Class II | Butterfat | 9,836,296 | 3.3379 | 32,832,572.40 | |
| | Nonfat Solids | 7,136,651 | 1.0989 | 7,842,465.79 | 40,675,038.19 |
| Class III | Butterfat | 28,871,945 | 3.3309 | 96,169,561.62 | |
| | Protein | 23,386,670 | 0.8345 | 19,516,176.15 | |
| | Other Solids | 40,182,238 | 0.2367 | 9,511,135.76 | 125,196,873.53 |
| Class IV | Butterfat | 5,651,110 | 3.3309 | 18,823,282.31 | |
| | Nonfat Solids | 9,570,088 | 0.9730 | 9,311,695.62 | 28,134,977.93 |
| Total Class | ified Value | | | | \$257,449,249.38 |
| Add: | Overage - All Classes | | | | 40,322.13 |
| | Inventory Reclassification - All Classes | | | | (199,927.52) |
| | Other Source Receipts | 91,312 | | | 5,542.64 |
| | Somatic Cell Adjustment - Classes II, III a | nd IV | | _ | 1,161,746.02 |
| Total Pool \ | √alue | | | | \$258,456,932.65 |
| Less: | Value of Producer Butterfat | 52,673,638 | 3.3309 | (175,450,620.84) | |
| | Value of Producer Protein | 41,595,286 | 0.8345 | (34,711,266.19) | |
| | Value of Producer Other Solids | 72,213,745 | 0.2367 | (17,092,993.46) | |
| | Value of Producer Somatic Cell | 183 | | (1,601,894.94) | (228,856,775.43) |
| Total PPD \ | /alue before Adjustments | | | | \$29,600,157.22 |
| Add: | Location Adjustment to Producers | | | | (2,117,019.80) |
| | One-half Unobligated Balance - Producer | Settlement Fund | | | 558,482.89 |
| Less: | Producer Settlement Fund - Reserve | | | _ | (618,929.39) |
| Total Pool | l Milk (w/URSP) & PPD Value | 1,246,485,953 | | | \$27,422,690.92 |
| | Producer Price Differential | | \$2.20 | | |
| | Statistical Uniform Price | | \$17.70 | | |

CENTRAL MARKETING AREA FEDERAL MILK ORDER NO. 32

Payment Schedule

| Payment Dates for the Month of: | APRIL 2024 |
|--|-------------------|
| Payments TO the Producer Settlement Fund DUE by: | May 14, 2024 |
| Payments FROM the Producer Settlement Fund DUE by: | May 15, 2024 |
| Final payments TO a Cooperative Association must be RECEIVED by: | May 16, 2024 |
| Final payments TO Producers must be RECEIVED by: | May 17, 2024 |

Producer Price Differential and Statistical Uniform Price, by Zone Differential

| _ | Zone Differential ^{1/} | Adjustment | Producer Price Differential | Statistical 2/ Uniform Price |
|---------------|------------------------------------|----------------|-----------------------------------|------------------------------------|
| _ | | dollars per hu | ndredweight | |
| As Announced: | 2.00 | 0.00 | 2.20 | 17.70 |
| Other Zones: | 1.75 | (0.25) | 1.95 | 17.45 |
| | 2.10 | 0.10 | 2.30 | 17.80 |
| | 2.20 | 0.20 | 2.40 | 17.90 |
| | 2.45 | 0.45 | 2.65 | 18.15 |

^{1/} Differentials listed apply to zones included in the Central Marketing Area. Outside of this area, differentials may be above or below this range. Differentials apply on a county basis.

Producer Milk Received by Component Pounds

| Decidence Mills Decided | <u>Skim</u> | <u>Butterfat</u> | <u>Protein</u> | Other Solids | Nonfat Solids |
|-------------------------|---------------|------------------|----------------|--------------|---------------|
| Producer Milk Receipts | | | Pounds | | |
| Class I | 353,439,969 | 8,314,287 | 12,151,926 | 21,381,458 | 33,533,384 |
| Class II | 75,115,702 | 9,836,296 | 2,593,096 | 4,543,555 | 7,136,651 |
| Class III | 664,386,317 | 28,871,945 | 23,386,670 | 40,182,238 | 63,568,908 |
| Class IV | 100,779,015 | <u>5,651,110</u> | 3,463,594 | 6,106,494 | 9,570,088 |
| Total Producer Milk | 1,193,721,003 | 52,673,638 | 41,595,286 | 72,213,745 | 113,809,031 |

| Est Class I Percenta | ages | Selected Pool Statistics | Average test of produ | cer receipts: |
|----------------------|---------|--------------------------|-----------------------|---------------|
| Skim | 28.00 % | | Butterfat | 4.23 % |
| Butterfat | 15.00 % | | Protein | 3.34 % |
| | | | Other Solids | 5.79 % |
| | | | SCC | 183 |

Administrative Assessment and Marketing Service Deduction

§ 1000.85 - Assessment for order administration \$0.040 per hundredweight \$1000.86 - Deduction for marketing services \$0.050 per hundredweight

^{2/} Prices at 3.5 percent butterfat, 2.99 percent protein, and 5.69 percent other solids.

UNITED STATES DEPARTMENT OF AGRICULTURE

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAM

Central Order - Federal Order No. 32 Pool Handler Listing

April 2024

| Plant Name | City, State | County | FIPS Code | Loc. Adj. 1/ |
|--|----------------------|------------|-----------|--------------|
| Pool Distributing Plants - Sec. 1032.7 (a) or (b) or (d) | | | | |
| Anderson-Erickson Dairy Co | Des Moines, IA | Polk | 19153 | (\$0.20) |
| Aurora Organic Dairy | Platteville, CO | Weld | 08123 | \$0.45 |
| Braum, W.H., Inc | Tuttle, OK | Grady | 40051 | \$0.60 |
| Central Dairy Co | Jefferson City, MO | Cole | 29051 | \$0.00 |
| Dean Dairy | Le Mars, IA | Plymouth | 19149 | (\$0.25) |
| East Side Jersey | O Fallon, IL | St Clair | 17163 | \$0.00 |
| East Side Jersey | Sioux Falls, SD | Minnehaha | 46099 | (\$0.30) |
| Farmers' All Natural Creamery | Wellman, IA | Washington | 19183 | (\$0.20) |
| Hiland Dairy Foods Co, LLC | Chandler, OK | Lincoln | 40081 | \$0.60 |
| Hiland Dairy Foods Co, LLC | Kansas City, MO | Jackson | 29095 | \$0.00 |
| Hiland Dairy Foods Co, LLC | Norman, OK | Cleveland | 40027 | \$0.60 |
| Hiland Dairy Foods Co, LLC | Omaha, NE | Douglas | 31055 | (\$0.15) |
| Hiland Dairy Foods Co, LLC | Wichita, KS | Sedgwick | 20173 | \$0.20 |
| Jackson Dairy | Hutchinson, KS | Reno | 20155 | \$0.20 |
| Kroger Mountain View Foods | Denver, CO | Denver | 08031 | \$0.55 |
| Meadow Gold | Englewood, CO | Arapahoe | 08005 | \$0.55 |
| Prairie Farms Dairy Inc | Carlinville, IL | Macoupin | 17117 | \$0.00 |
| Prairie Farms Dairy Inc | Dubuque, IA | Dubuque | 19061 | (\$0.25) |
| Prairie Farms Dairy Inc | Granite City, IL | Madison | 17119 | \$0.00 |
| Prairie Farms Dairy Inc | Olney, IL | Richland | 17159 | \$0.00 |
| Royal Crest Dairy, Inc | Longmont, CO | Boulder | 08013 | \$0.45 |
| Safeway Stores,Inc | Denver, CO | Denver | 08031 | \$0.55 |
| Sinton Dairy Foods Co, LLC | Colorado Springs, CO | El Paso | 08041 | \$0.55 |
| Pool Supply Plants - Sec. 1032.7 (c) | | | | |
| Associated Milk Producers Inc | Freeman, SD | Hutchinson | 46067 | (\$0.25) |
| Associated Milk Producers Inc | Sanborn, IA | O Brien | 19141 | (\$0.25) |
| Central Equity Milk Coop | Fairland, OK | Ottawa | 40115 | \$0.40 |
| Dairy Farmers Of America Inc | Independence, IA | Buchanan | 19019 | (\$0.25) |
| Independent Dairy Producers | Boise City, OK | Cimarron | 40025 | \$0.40 |
| Kalona Farms | Kalona, IA | Washington | 19183 | (\$0.20) |
| Prairie Farms Dairy Inc | Luana, IA | Clayton | 19043 | (\$0.25) |

City, State

FIPS Code

County

Loc. Adj. 1/

Plant Name